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Minitab Assignment 7
In this assignment you will use Minitab to construct confidence intervals and do hypothesis tests for a population proportion, p, and a population mean, (.

The dataset Pulse2.mtw contains data on a sample of subject 328 from the population of young adults in the U.S. between the ages of 24 and 39 years. The variables recorded are Age, Sex, Smoke (smoke cigarettes or not), BodTemp (measured 5 times in a day and averaged), Pulse1 (initial, at rest, pulse rate), Pulse2 (pulse, after a short brisk walk), and EdLevel (educational level with values: 1= <HS diploma, 2 = HS diploma, 3 = some college, 4 = college degree).
Retrieve the worksheet and start Minitab by double clicking on the worksheet file Pulse2.mtw in the Math 11/Minitab Data folder on the Mathsci fileserver. Then as before enter:

To test the assertion that the proportion of smokers in this population of young adults is less than 20% enter the following:

Stat>Basic Statistics>1 Proportion…, enter Smoke below “One or more samples, each in a column” box by typing it in or more simply by double clicking on C3 Smoke in the box on the left. Check the box for “Perform hypothesis test” and make “Hypothesized proportion” 0.20. Click on the “Options” button and make the “Confidence level” 95.0, and the Alternative hypothesis “Proportion < hypothesized proportion”; make Method “normal approximation”, click OK, OK.

Note that Minitab does not compute the entire confidence interval; it gives the “95% Upper Bound.” Minitab does this because we are asking “Is p less than 0.20?” so the lower bound of the interval is irrelevant. 
To construct a confidence interval and test the hypothesis that the mean body temperature of this population of young adults is 98.6(F. Enter the following:

Stat>Basic Statistics>1-Sample t…, enter BodTemp below “One or more samples, each in a column” box by typing it in or more simply by double clicking on C4 BodTemp in the box on the left. Check the box “Perform hypothesis test” and for the “Hypothesized mean:” enter 98.6. Click on the “Options” button and make the “Confidence level” 95.0, and the Alternative hypothesis “Mean ( hypothesized mean.” Click OK, OK.

Print the session window only.by making it the active window then File> Print Session Window…  After printing, exit Minitab.

Complete the following and turn in with your printed output. Staple this page to the front of your output.


Test the hypothesis that the proportion of smokers in this population of young adults is less than 20% by completing the following steps of the hypothesis test.


State appropriate null and alternative hypotheses.


H0:  __________________________________
HA:  __________________________________


the computed sample proportion
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p

 = __________


the value of the test statistic is
z = __________


the P-value is
P-value = __________


the 95% upper confidence bound is
__________


The initial or formal conclusion (Reject H0/Fail to reject H0)
_______________________


Write a properly worded and meaningful conclusion. (Use complete sentences please and recall that this must be an answer to the question at hand and not just about null or alternative hypotheses.)


Test the hypothesis that the mean body temperature of this population is 98.6(F by completing the following steps of the hypothesis test.

State appropriate null and alternative hypotheses.


H0:  __________________________________
HA:  __________________________________


the computed sample mean is
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 = __________


the computed standard deviation is
s = __________

the value of the test statistic is
t = __________


the P-value is
P-value = __________


the 95% confidence interval is
________________________________


The initial or formal conclusion (Reject H0/Fail to reject H0)
______________________________


Write a properly worded and meaningful conclusion. (Use complete sentences please and recall that this must be an answer to the question at hand and not just about null or alternative hypotheses.)
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